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| nput-Output Analysis of the Impact of Business Tax Rate
Changeon Prices

Fang-Yi Lin
Senior Specialist
Economic Research Department, CEPD

Abstract

As the new business tax is based on added value, it serves a
cross-checking function and can avoid tax being levied more than once
on the same products at different transaction points while also helping
to reduce tax evasion. As value-added tax (VAT) is levied on fina
consumption, producers only collect tax for the government and bear
no tax burden, except in the case of a few non-VAT type businesses.
Therefore, the impact on production from a business tax increase is
limited only to this small group. This means that the government can
raise the tax rate when needed without any significant impact on
production activity.  Input-output analysis demonstrates that an
increase in the business tax rate from 5% to 6%, with no adjustment of
the rate for the banking industry, would increase the output price for the
whole of industrial production by no more than 0.05%, the wholesale
price by 0.18%, and the consumer price by 0.36%. Therefore, a hike
in the business tax would not have a significant impact on industry or
the price of goods.



